
ASSEMBLY INSTRUCTIONS 

-.,.. �'i.. 

� 

: � 
-

-�=�� 
I 

I 

f:=== 

-
;;:-- ---I 

� I 

r--- • 
• 

: r---
0-----

. 
•

-

-
• IL

II 

II I 

�
=----

---= . 
� 

. 

. 

., 

- I I 

I 

..

. 
" 

I 

�. 
,___ 

I ' 
...._ I. 

J
--

· l] I

\J l] 

1 / 20 

TOOLS REQUIRED 

Allen Wrench 

(Included) 

Phillips 

Screwdriver 

(Not Included) 

4 - People 

Recommended 

ASSEMBLY RATING 

0000® 
EASY------ DIFFICULT 

The Assembly Rating is a 
5-point system showing the

level of effort needed to

assemble a specific product.



Thank you for your purchase! 

We hope you enjoy this new addition to your home for many years to come.              

Our commitment to providing quality products does not simply end when you purchase 

our product. We fully stand behind our products from start to finish.

0
CHECK 

BEFORE STARTING 

D Are you missing anything?

Double-check all parts, hardware and 

accessories listed on Page 6 are 

accounted for. 

D Check out our Quick Tips!

□ 

2 / 20 

We recommend reviewing the pre-assembly 

handouts. Even experts need a refresher now and 

then! 

Prep Time! 

Please review the assembly instructions and all 

diagrams prior to assembling. Arrange parts as 

recommended on Page 7 and group identical 

hardware together to make assembling easier. 













x 2

x 2

x 5



x 2

x 2

x 2

x 4

x 4





JustinW
Typewritten Text
Insert dowels (#C) to rails (#6,7,8). Align rails (#6,7,8) to legs (#3,4,5), then secure by using bolts (#A) onto barrel nuts (#B).

JustinW
Rectangle

JustinW
Typewritten Text
Insert dowels (#C) to the rails (#9,10). Align rails (#9,10) to legs (#3,4), then secure by using bolts (#A) onto barrel nuts (#B).

JustinW
Rectangle



JustinW
Typewritten Text
Align gliders (#14,15) to the shelf panel (#12), then secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Align leg frame (#28) to shelf panel (#12), then secure by using bolts (#G).

JustinW
Rectangle



JustinW
Typewritten Text
Align shelf panel (#12) to the frames, then secure by using bolts (#E,G) as shown in the diagram.

JustinW
Rectangle

JustinW
Typewritten Text
Align and connect key board shelf (#13) to the rails on the shelf panel.

JustinW
Rectangle



JustinW
Typewritten Text
Insert dowels (#C) to rails (#11,17). Align rails (#11,17) to headboards (#1,2). then secure by using bolts (#A) onto barrel nuts (#B).

JustinW
Rectangle

JustinW
Typewritten Text
Align slats (#21) to the bed, then secure by using screws (#H).

JustinW
Rectangle



JustinW
Typewritten Text
Align rail (#16) to the rail (#11), then secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Insert dowels (#N) to the bottom unit, then align the top unit to bottom unit.

JustinW
Rectangle



JustinW
Typewritten Text
Insert dowels (#C) to ladder rungs (#20), then align ladder rungs (#20) to ladder rails (#18,19). Secure by using screws (#P). Align brackets (#K) to the ladder rails (#18,19), then secure by using screws (#I).

JustinW
Rectangle

JustinW
Typewritten Text
Align ladder to the bunk bed, then secure by using screws (#I).

JustinW
Rectangle



JustinW
Typewritten Text
Insert dowels (#D) to shelves (#24), then secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Align back (#27) to the unit, then secure by using screws (#J).

JustinW
Rectangle



JustinW
Typewritten Text
Align shelf units to the table. Make sure the holes on the sides are facing each other.

JustinW
Rectangle

JustinW
Typewritten Text
Align long shelf (#26) to the shelf units, then secure by using bolts (#F).

JustinW
Rectangle



19 / 20

JustinW
Typewritten Text
Insert shelf pins (#M) to the desired height of the shelves (#25).

JustinW
Rectangle

JustinW
Typewritten Text
Align brackets (#L) to the back of the shelf units, then secure by using screws (#I). Insert caps (#O) to holes of the bunk bed.

JustinW
Rectangle






